

## WhaleJam

Whaleback, NH

Feb 16, 2025 (Sun) (N1227) (N1226)

Course: Lower Blowhole - BlastOff Head Judge Chief of Scoring T.D.

Head Judge: SAWYER,Lonnie Chief of Comp: MITCHELL, Jim T.D.: GAUDET,Dan

Chief of Scoring: IRWIN, Jessica Judge 1(T&A): KAPLAN, Andrew Judge 2(T&A): YOUNG, Shirley

Aerials Event Date: Feb 16, 2025 (Sun) Time: 6:00 pm

Female/Male (By Score) Whaleback, NH WhaleJam

		Name							Manuvr			
===	===		_==_	===	_====			=====		=====		
<sup>⊥</sup>	141	CRONIN, Adalynn	F13	Lon.	1.8	<del>-</del> - <del>-</del> -	1.4	l				
_		01.01.21.711.02.27111				+3.7						
!					+2.8	+2.7	+2.8	8.3				
					=8.7	=8.1	=8.3	25.10	D	1.480	37.14	
ļ				l	2.0					ļ		
						+4.9						
						+3.0			_			
	-1-1-			<b></b>	=9.7	_=9.9	=9.8	29.40	S	_1.480	43.51	43.51
2	11/	ANGELONE, Veda	F.T.T	Lon		+4.8						
						+3.0						
								28.80	S	1.480	42.62	
				- 1	2.0	1.8	1.7	5.5	J		12.02	
						+4.0						
				- 1	+3.0	+2.8	+2.9	8 7		1		
					=9.0	=8.6	=8.6	26.20	T	1.480	38.77	42.62
3	181	COSTA, Maddie	F15	Lon				5.5		<sub> </sub>		
						+4.7						
l i				i		+2.9		8.7	_		40 45	
									S	1.480	42.47	
				ı İ		1.4 +4.3				'		
						+2.8						
'				'				27.00	s	1.480	39.96	42.47
4	184	PRESTON, Hazel	F15	Lon	2.0	<u>i.</u> 8-	1.8	5.6	<del>-</del> -			
		, ,		· !		+4.5						
					+3.0	+2.8	+2.8	8.6				
					=9.8	=9.1	=9.3	28.20	S	1.480	41.73	
						1.8						
						+4.8						
					+3.0	+2.8	+2.8	8.6	S	1 400	40.00	40.00
	100	CARRIERE, Dani	TD1 E	TiTle le	=9.8	_=9.4 .8	=9.2	28.40	S	_1.480	42.03	42.03
3	100	CARRIERE, Dani	FIS	WDK		+3.8						
						+2.3						
									3X	1.700	37.91	
					1.5	1.4			Ç.N		J. • J I	
						+3.8						
					T 2 0	TO 0	T 2 0	0 5				
				١	=8.3	=8.0	=8.1	24.40	3x	1.700	41.48	41.48
6	148	KELLEY, Amelia	F13	Lon	1./	1.0	1.2	3.9				
l i				i		+2.4						
						+.3		1.8			40	
				, 					D	1.480	19.98	
					1.8	1.4	1.6	4.8				

Run No Bib Name Gp Rep J.1 J.2 J.3 Judge Manuvr DofD Event +4.8 +4.8 +4.8 | 14.4 +3.0 +2.8 +2.9 8.7 =9.6 =9.0 =9.3 27.90 S 1.480 41.29 41.29 7 143 CARROLL, Ayla F13 Cro 8.2 +3.0 +2.4 +2.8 +.9 +.3 +.8 2.0 =5.6 = 3.9 = 4.8 | 14.30S 1.480 21.16 1.9 1.8 1.8 5.5 +4.9 +4.8 +4.9 14.6 +2.5 + 2.5 + 2.5 | 7.5=9.3 =9.1 =9.2 27.60 S 1.480 40.84 40.84 1.8 1.4 1.4 4.6 8 183 IRWIN, Adelyn F15 Wbk +4.3 +3.8 +4.1 12.2 +2.5 +2.5 +2.5 7.5 **=8.6 =7.7 =8.0 24.30** 3 1.680 40.82  $1.8 \ 1.4 \ 1.2 \ 4.4$ |+3.0 +2.4 +2.5| 7.9 | +1.1 +1.3 +1.2 | 3.6 =5.9 =5.1 =4.9 15.90 3 1.680 26.71 40.82 9 116 BRYAN, Leah F11 Cro 1.8 1.8 1.7 5.3 +4.8 +4.5 +4.3 13.6 +2.9 +2.8 +2.9 8.6 =9.5 = 9.1 = 8.9 | 27.50 S 1.480 | 40.70 $1.6 \ 1.2 \ 1.2 \ 4.0$ +3.7 +3.7 +3.7 11.1 +2.6 +2.8 +2.8 | 8.2 | =7.9 =7.7 =7.7 | 23.30 | S 1.480 | 34.48 | 40.70 | 10 | 95 LUCE, Lianna | F11 Lon | 1.2 | 1.0 | 1.7 | 3.9 +4.6 +4.2 +4.2 13.0 +2.7 +2.8 +2.8 8.3 =8.5 =8.0 =8.7 25.20 S 1.480 37.29  $1.8 \ 1.7 \ 1.4$ +4.4 +4.6 +4.7 | 13.7 +2.8 +2.6 +2.8 8.2 =9.0 =8.9 =8.9 26.80 S 1.480 39.66 39.66 1.2 1.5 3.9 11 102 CRONIN, Norah F09 Lon +4.5 +4.6 +4.3 13.4 +2.7 +2.9 +2.8 8.4 =8.4 = 8.7 = 8.6 | 25.70S 1.480 38.03 1.5 1.6 1.4 4.5 +4.3 +4.0 +4.3 12.6 | +2.7 +2.8 +2.8 | 8.3 | =8.5 =8.4 =8.5 | 25.40 | G 1.480 | 37.59 | 38.03 | 12 | 112 | IRWIN, Harper | F11 | Wbk | 1.8 | 1.8 | 1.8 | 5.4 +3.7 +3.5 +3.2 10.4 +2.5 +2.6 +2.8 7.9 =8.0 =7.9 =7.8 | 23.70 D 1.480 | 35.07  $1.3 \ 1.6 \ 1.2 \ 4.1$ +4.7 +4.0 +3.9 | 12.6 +2.7 +2.8 +2.8 8.3 =8.7 = 8.4 = 7.9 + 25.00 S 1.480 + 37.00 37.00 13 98 BEAUREGARD, Victor F13 Lon 1.3 1.4 1.1 3.8 +3.1 +3.8 +4.0 10.9 +2.7 +2.5 +2.7 7.9 S 1.480 33.44 =7.1 = 7.7 = 7.8 | 22.60.8 1.0 3.0 1.2 +4.0 +3.8 +4.4 12.2 +2.9 +2.8 +2.8 | 8.5  $=8.1 = 7.4 = 8.2 \mid 23.70$   $= 1.480 \mid 35.07$  = 35.0714 114 SANDLER FREY, Kate F11 Lon . 4 1.0 1.9 +4.0 +4.0 +4.0 12.0 +2.7 +2.6 +2.8 8.1 =7.2 =7.0 =7.8 22.00 S 1.480 32.56 .5 .6 .8 1.9

Event (By Score) WhaleJam

Date: Feb 16, 2025 (Sun) Time: 6:00 pm

No		Name	Gp	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
						+2.4						
					=5.4	+2.6 =5.6		17.20	S	1.480	25.45	32.56
15	149	CUTTER, Kinsley	F13	Lon	dns	dns	dns	dns			dns	
					_dns	dns	dns	dns			dns	dns
1	188	BERGERON, Kane	M15	Wbk								
						+3.8 +2.6						
li				'				25.50	fT	2.000	51.00	
						1.4						
						+3.7 +2.8						
				 	=8.6	=7.9	=8.2	24.70	fT	2.000	49.40	51.00
$  ^2  $	206	GROSSHANDLER, Brad	M17	Lon		2.0 +4.1						
li					+2.8	+2.8	+2.9	8.5		ĺ		
						=8.9 1.6		27.60	3oG	1.700	46.92	
						+2.4						
					+1.0	+.5			2 0	1 700	07.54	46.00
3	191	GODDARD, Joey	M15	Lon	1.9	=4.5 1.5	=5./ 1.8	16.20 5.2	30G	-1.700	27.54	46.92
		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			+4.8	+4.8	+4.5	14.1				
						+2.8		8.3  27.60	3	1 680	46.36	
					dns	dns	dns	dns			dns	46.36
4	166	SAVAGE, Brooks	M13	Cva								
						+4.7 +3.0						
								28.60	TTT	1.600	45.76	
					1.8	1.5 +3.6						
					+2.8	+2.6	+2.8	8.2				[
	193	MCCLURE, Tighe	M15		=8.4	$=\frac{7.7}{2.0}$		24.20	DD	1.550	37.51	45.76
	133	noonond, right	1110	1011	+4.9	+4.8	+4.9	14.6				
						+3.0		9.0 29.50	mе	1 550	45.72	
					1.9	1.8		5.5	10	1.550	43.72	
						+3.7						
						+2.8 =8.3		25.40	TTT	1.600	40.64	45.72
6	131	GODDARD, Weston	M11	Lon	1.8	1.7	1.6	5.1		 ا		
						+4.0 +2.8						
								26.80	3	1.680	45.02	
					1.5	1.2 +3.2	1.2					
						+2.6						
		MONTH TOMBS - 5-1111						21.70	3x	1.700	36.89	45.02
'	93	MCALLISTER, Daniel	мтэ	spe		1.6 +3.7	1.7 +4.3	5.1 12.8				
					+2.7	+2.8	+2.8	8.3	÷		44.65	
					=9.3 1.7	=8.1 1.4	=8.8 1.5	26.20 4.6	3	1.680	44.01	
						+2.5						
					+.4	+.1	+.4	0.9 13.00	7	1.850	24.05	44.01
- 8	137	DAVIS, Kenneth	M11	Spe	2.0	2.0	1.9					<u></u> -
				-	+4.7	+4.8						
				ĺ		+3.0 =9.8		8.8 29.00	G	1.480	42.92	
					2.0	2.0						

Event (By Score) WhaleJam

rent Date: Feb 16, 2025 (Sun) by Score) Time: 6:00 pm

	===		Gp ==	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
				<u>.</u>		+4.0						
						+3.0 =9.0		8.7  26.60	SG	1.550	41.23	42.92
9	136	JORGENSEN, Griffin	M11	Cva	1.8	1.8	1.6	5.2		_=:::::		
i				i		+3.8						
						+2.8 =8.4		25.40	TT	1.550	39.37	
					2.0	2.0	1.9	5.9				
						+4.9 +2.5						
								28.50	S	1.480	42.18	42.18
10	173	KELLEHER, Daniel	M13	Lon						 		
						+3.9 +2.8						
					=8.2	=7.9	=8.1	24.20	3X	1.700	41.14	
				- 1		1.2						
						+3.7 +2.6						
i					=8.0	=7.5	=7.8	23.30	3x	1.700	39.61	41.14
11	154	TOSSELL, Caleb	M13	Wva		1.2 +3.7						
						+1.8						
								20.00	3X	1.700	34.00	
						1.4						
l				i	+2.6	+2.6	+2.8	8.0				
12		COSTA, Grayson	м1 2		=8.1	$=\frac{7}{1} \cdot \frac{8}{2}$	=7.9	23.80	3 <u>x</u>	_1.700	40.46	40.46
12	1/4	COSTA, Grayson	MIS	LOII		+4.0						
				ļ	+2.8	+2.8	+2.8	8.4	_	اممد		
						=8.0 1.6		24.50	Т	1.480	36.26	
				i		+4.8				İ		
						+2.8			0	1 400	40 05	40 05
13	91	PRESTON, Jace	M13	Wbk	$\frac{-9.3}{1.1}$	$-\frac{9.2}{1.2}$		27.20 3.7	S	_1.480	40.25	40.25
		•		! !	+2.7	+2.4	+2.6	7.7		 		
						+.3		2.0 13.40	3	1 680	22.51	
					1.6	1.4	1.5	4.5	J		22.51	
						+3.7						
						+2.6 =7.7			3	1.680	39.81	39.81
$14^{\circ}$	200	BOGIGIAN, Max	M15	Lon	1.3	$\bar{1.4}$	1.4	4.1		 		
						+2.4 +2.6						
				- 1				19.30	TT	1.550	29.91	
				- 1		1.0						
						+3.7 +2.8						
L					=7.8	<u>=7.5</u>	=8.0	23.30	3	_1.680	39.14	39.14
15	97	LARKIN, Kalem	M13	Wbk		1.4 +2.4						
						+2.4						
					=6.6	=6.4	=6.9	19.90	3	1.680	33.43	
					1.4	.8 +3.7	1.2					
li				i	+2.6	+2.6	+2.7	7.9				
L	100	EHRET, Willem		While	=7.4	$=\frac{7}{1}\cdot\frac{1}{6}$		22.10	3 <u>G</u>	_ <b>1.</b> 700	37.57	37.57
10	190	EUVET, MITIEM	мтэ	WDK		+3.8	1.5 +4.0					
					+2.8	+2.8	+2.8	8.4		 	25. 65	
						=8.4 1.4		24.10	TT	1.550	37.35	

Aerials Event Date: Feb 16, 2025 (Sun)
Female/Male (By Score) Time: 6:00 pm
Whaleback, NH WhaleJam

No ===	Bib ===	Name	Gp ==	Rep	J.1	J.2	J.3	Judge =====	Manuvr	DofD	Run	Event
17	132	KENT, Griffin	M11	Lon	+2.7 =8.5 1.2 +3.5 +2.7	.8 +3.0 +2.6	=8.6 1.0 +3.6 +2.7	8.3 25.00 3.0			37.00	37.35
18	159	SANDLER FREY, Jami	M13	Lon	1.7 +3.6 +2.7 =8.0 1.0 +2.0 +2.6	1.4 +3.6 +2.8 =7.8 1.1 +2.4 +2.6	1.5 +3.6 +2.8 =7.9 1.4 +2.0 +2.6	4.6 10.8 8.3 23.70 3.5 6.4 7.8	TT	1.550	36.73	36.73
19	     126	MARTIN, Alderic	M11	Cva	1.5 +3.5 +2.7 =7.7 1.6 +2.9	1.4 +3.7 +2.8	1.4 +3.8 +2.7 =7.9 1.4 +2.8	11.0 8.2 23.50 4.5 8.5			30.09	36.42
20	       157	BOGIGAN, Rocco	M13	Lon	=7.2 1.5 +3.2 +2.6 =7.3 1.3 +3.8	=6.9 1.5 +3.6 +2.8 =7.9 1.2 +3.8	=6.8 1.4 +3.2 +2.8 =7.4 1.3 +3.8	20.90 4.4 10.0 8.2 22.60 3.8 11.4			32.39	35.03
21	104	BOGOSIAN, Ryan	M09	Lon	=7.9 1.6 +3.2 +2.6 =7.4 0.2	.8 +3.6 +2.6 =7.0	=7.9 1.0 +3.2 +2.8 =7.0	$\begin{array}{ c c } 8.0 \\ 21.40 \\ \hline 1.4 \end{array}$		1.480		34.63
22	   	LUCE, Marcus	M11	Lon	+2.6 =5.8 .7 +3.6 +2.6 =6.9	+2.6 =7.0 1.2 +3.7 +2.6 =7.5	+2.8 =7.6 .8 +3.7 +2.8 =7.3	8.0 20.40 2.7 11.0 8.0 21.70	s g		30.19	32.11
	   	· 			+2.1 +.8 =4.2	+2.4	+2.4 +1.2 =5.0	6.9 2.8 13.80	3	1.680	23.18 dns	23.18

Winfree 2025.03, B Rules, Rand=82 @ 1:51p(25-2-16), A

Aerials Finals Date: Feb 16, 2025 (Sun)
Female/Male (By Group Score) Time: 6:00 pm
Whaleback, NH WhaleJam

No	Bib# ====	Name	Gp ==	Repr	resenting	Score	
1	102	CRONIN, Norah	F09	Lon	Loon	38.0	
1 2	116	ANGELONE, Veda BRYAN, Leah	F11	Cro	Loon Crotched	42.6	
3 4 5	112	LUCE, Lianna IRWIN, Harper SANDLER FREY, Kate	F11	Wbk	Loon Whalebac Loon	39.7 37.0 32.6	
1	141	CRONIN, Adalynn	F13	Lon	Loon	43.5	
2 3 4	143	KELLEY,Amelia CARROLL,Ayla BEAUREGARD,Victoria	F13 F13	Cro	Loon Crotched Loon	40.8 35.1	
5 1	149	CUTTER, Kinsley COSTA, Maddie	F13	Lon	Loon	dns 42.5	
2 3	184 180	PRESTON, Hazel CARRIERE, Dani	F15 F15	Lon Wbk	Loon   Whalebac	42.0	
<del>4</del> 1		IRWIN, Adelyn BOGOSIAN, Ryan			Whalebac Loon	40.8	
1 2	131	GODDARD, Weston DAVIS, Kenneth	M11	Lon	Loon	45.0 42.9	
3	136 132	JORGENSEN, Griffin KENT, Griffin	M11 M11	Cva Lon	Mount Su Carrabas Loon	42.2 36.7	
5		MARTIN, Alderic LUCE, Marcus	M11 M11	Cva Lon	Carrabas Loon	35.0 23.2	
1 2	93	SAVAGE, Brooks MCALLISTER, Daniel	M13	Spe	Carrabas Mount Su	45.8	
3 4 5	154	KELLEHER, Daniel TOSSELL, Caleb COSTA, Grayson	M13 M13	Wva Lon	Loon Watervil Loon	41.1 40.5 40.2	
6 7 8	91 97	PRESTON, Jace LARKIN, Kalem SANDLER FREY, Jamie	M13	Wbk	Whalebac Whalebac Loon	39.8 37.6 36.4	
9	157	BOGIGAN, Rocco	M13	Lon	Loon	34.6	
<u>1</u> <u>2</u> 3	191	BERGERON, Kane GODDARD, Joey MCCLURE, Tighe	M15	Lon	Whalebac Loon Loon	51.0 46.4 45.7	
5	200	BOGIGIAN, Max EHRET, Willem	M15	Lon	Loon Whalebac	39.1 37.4	
1	206	GROSSHANDLER, Braden	M17	Lon	Loon	46.9	

Winfree 2025.03, B Rules, Rand=82 @ 1:51p(25-2-16), A